Frefafaa semrt § & frm sl #1 or 2o 1.

Tty iereml we 2% &y # wifyq foan mam 2
(1) wvomemERe 3R sfegg $ 9wy rrm Tal
(1620 fF.1t,) .

(2) Hﬁmgﬁ??ﬁﬂ'%mmﬁ{aﬂ%ﬁ}
(3 @ F wfemadta TR (FiEgw - Feh
SUNHES 9 SR T8 — 205 Be.f.)

(4) hiIEl — Jg=rt TR W % mg-ary AgEd

.*ﬂ‘@"?ﬁﬁ%ﬁﬁzm{mmﬁwﬁ}
(5) IR 7d & wiEa ¢

%ﬁmﬁa}a%m{ﬁmﬂﬁsﬁaﬂ%ﬁ N

T I WHAE & § =7 70 FEa £ 7 -
- (1) TrETEE ;
(2) fafEwm
(3), aftefte

- 4) Hgamam
(5) It 7. g |z

AW Hge @t A, afd wir 9% ad AR W e
F R A wma @ O = 7 o F R e g,
mmaﬁaﬁmmmmﬁ@m

() wem : _

@ wm

@ swfaffawm

(@) wRfEm @

(5] 3 & & =ed

" 1 g TpeTd e frene ad 1919 # frw
'ﬁqﬁﬁmﬁmﬁaﬁ‘f‘mwm? - L

Haryana CET 5 Nov. 2022 1st Shift Paper

Which of the following waterwa® has been
d&clﬂ.]Ed by the Government as thﬂ National

 Waterways N.W. No. 27
The (Ganga river between Allzhabad and

(1)
Haldia (1620 km)
(2) The Brahmaputra river patween Sadiya
- and Dhubri (891 km) - .
(3) The West-Coast canal ;, Kerala -

(Kottapuram — Kollam, Udyoga mandal and
Champaklkara Canals — 205 k)

(4) Specified Stretches  of Qgg avari ' and

Krishna rivers along wiihi

 Kakinada — Puducherry Stretch of Canals
(1078 km)

(5 Not attempted

Selling off a part of the equity of a 'Puh;jc s
‘Enterprise (PSE) to the publiciscalled
(1) Nationalization

(2)° Disinvestment

. (3) D{_;Iimil:nti'ﬂﬂ

(4) - Communisation

(5) Not attempted

In a Market Equi]ibriuﬁl figure, if the Demand
curve shifts leftward and the Supply curve shifts
rightward simultaneously, what is the impact on
Equilibrium price ? : '
(1) Decreases

" (2) Increases

(3) Remains constant
(4) Remains undecided

. (5) Not attempted

- India’s first nationalist art school was established

in which University in 1919 ?

(1) Aligarh Muslim University
"(2)  Visva-Bharati University

(3) Banaras Hindu Unwars;ty
{4) A]Iahabad University
(5) Not attempted
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epdfE T A, S g daw o
%Eﬁﬂmﬁﬂﬁj ﬁﬁ@fﬁhﬂ{@ﬁmﬁfﬁa
'ﬂ‘

-{'ﬂJ‘ ﬁﬁé@ﬁﬁmmel

qﬁﬁwﬂna%q\mﬁ ﬁ%ﬂ
‘?Fle't%"ﬁl = #ﬁq"ﬁ

(et v T s e & W b
AR |

(d) .ﬁmmﬁnﬁwzﬁ%ﬁa.mgﬂﬁﬁg

a1 w4 |
ﬁﬁEWEﬂF@ﬁmaﬂwaﬁﬁq
() e () |
(2)  (a) 3 (b) 5

3 (@), (b) 3K (c)
4) (@3M@
(5) I E T A

Frfaflgs & 9 ®=F-4 39 9w s w9 @0 F
- e E?

(a) WRT iy 5

(b) T T ST

(¢) wTeferm

(@ ¥F= :

= fRn o e | wé faeen w1 =g1 R

(1) (a)3m(b)

(2)  (b) 3 (c}

(3)  (a) 3 (c)

(4) (b) 3 (@)

Which among the following was/were feature(s) of

‘Subsidiary Allianee’, a system devised by the

British in colenial India ?

(a) It was devised by Lord Wellesley.

(b} A Dritish army contingent was to be

- stationed in the territory of the ally.

(¢} The ally could never get into agreements
with any other rulers,

(d) The British were to protect the ally only
from the internal threats to power.

(Choose the correct option from the codes given

* below :

(1) Only (b)

(2) (a) and (b)

(3) (a), (b) and (c)
(4) (a)and (d)

(5) Not attempted

Which among the following countries would be an

~ example of ‘coming together’ federation ?

{a) India

(b) U.S.A.

(¢} Australia

(d) Spain

Choose the correct option “from the codes given
below :

(1) (a)and (b)

(2} (b) and (e

(3} (a)and (c)

(4} (b) and (d)

(5} Not attempted

(5) It @l o7 <Ared _ :
' ; ; SELAILE #%|7. Which among the following staterments is/are
. WwA ¥ AfE § FE ;ﬂﬁ % wu # fefin correct with regard to the amendment of the
& z”hm qVE Fo B = % i o Indian Constitution 7
(a) &g W AT I H SIS i {a) Parliament has the ]}U‘WEI' to amend any
i ) T o H A R | part of the Constitution except for Part IIL
(b) wfaue deee i FEd Fﬁﬂ-‘r T # & (b) A Constitutional Amendment Bill can only
' T EEa 2 | ' be introduced in the Lok Sabha.
(¢) wfaum weiea favas & wid fiFr w1 % 91Q (¢} The Constitutional Amendment Bill once
Tt £ sAf H S Gk A passed needs the assent of the President.
Choose the correct option from the codes given
ﬁmm@ﬁmﬁﬁmwwﬂm below : .
(1) (a) 3 () - _ (1) (a) and (c)
(2) Hada®) (2)  Only (b)
(3) *ad (o) : (3) Only(e)
{4)  (a) 3 (b) (4)  (a) and (b)
(5) I 7 & =9Ed 5) Not attempted
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8.

10,

(5) F &

R 3 fore e T 2 0

T 3 W w7 e o 8, s N B 2

Sirefirs # s 3w 1000 & A 2020 = fo
ool % watfis 0 yge od 8 ? :

(1) Framamsh
@

(3) aﬁﬁﬁﬁ
(4) el

1?_m2u22ﬁanﬁﬁm‘ﬂ1ﬁwﬁ“’“m
w1 ?

(1) “mre, T
(2) “ET R TE @
3). “aan, famr gRER
(4 “mwe F T A
5y e T 3

Ao 3 4 fore wenfi 1 v el 3 fe

(1) e

@ GdE

3 ¥z

4 Tew o
(5) 79 78 1 <R

G, w4 E 7
(1) Tl ; :
(2) u\ﬁ'ﬁmﬂ _}.

® Yo

) gy

(5) qu—ﬁhm

R—-""-MN&‘HPEQE 4

8.

1i.

10.

B

In Olympics, India h

as won the maxi
‘number of Gold Medals under which Kl
ginee 1900 to 2020 7 .

(1) Shooting

(2) Hockey

(3) Boxing |

(4) Wrestling

(5) Not attempted -

What was the slogan of the Patient Safety Day’

which was observed on 17th September 2022 7
(13 “Health Without Medication”

(2) “Meditation Replaces Medication™

(3) “Medication Without Harm”

(4) “Health With Yoga”

(5) Not attempted '

Whir:i-x of the following plastics is used for making

elcctr_ical gwitches 7

: (1} Polythene
(2) PVC

13) Bakelite
f4) Teflon
{5) Not attempted

What is the name of the plant group whose
plants bear naked seeds and are usually
perenlnial, evergreen and woody ?

(1) Gymnosperms

(2} ¢+ Angiosperms

~ (3) Pteridophyta
(4) Bryophyta

(5) Not attempted
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12.

13. @ﬁ,ﬁﬂﬁmﬁﬁﬁﬁﬁ?ﬂ%mg?

14.

B

15.

.. (2)

()

ﬁqﬁqﬁzﬁﬁﬁﬁ#—m@ﬁ%'?

1 ﬁﬁﬁﬁabm;m}m
(g ez > e > dare - s
(3) mhﬁaﬁﬁamrm finmamsz
(4) M}Wﬁm}m
(5) IR TEI 1 A :

wireS

-

L ALIC 5]
I T2 A AT

(1}
(2)
(3)
(4)
(5)

mﬁammwwwm
FarAThL?

(1) =@ frrdt = T TR RS g 39 W aE
# 93 gu I O I w TR A )

(rfeefa) w3 apET U B |

g Tead Tt A gE U L Ao |
78w T v & F g e %
qﬁsaﬂm.ﬁﬁ%ﬁmmm%i

e T T =,

(3)

e # & i g T @ P T 6

ﬁéﬂmmu@mmﬁaﬁmﬁ?ﬁﬁ?:

12,

118.

14.

15.

- Google, ‘Bing and Yahoo are examples of

(3

(5

Which of the fu‘llumng is the correct sequence 7
(1) I{;]abyte > Petabyte > Yottabyte > Megabyte .
(2) Megabyte > Kilobyte > Terabyte > Gigabyte

(3) Exabyte > IPﬂtﬂbjfte > Terabyte » Gigabyte

(4) Petabyte > Zettabyte > Gigabyte > Terabyte

" {5) Not attempted

‘Search Eng‘maa
Mobile Applmahuns

(1)
(2)
(3)
(4)
(5)

Software
Firewalls
Not attempted

Which one of the following statements is correct
ahout Uniform Resource Identifier (URI) 7 :

(1) It is a set of rules which is used to retrieve

linked web pages across the web.

(2) It is a unique address or path for each

resource located on the web.
It is a unique value associated with a
network adapter.”

It is a unique address that can be used to
uniquely identify each node in a network.

{4)
Not attemﬁtﬂd

Which of the following is used to ensure accuracy

aiE [‘Eﬁ:ﬁq} o7 gaadm 2 7 . and reliability of data in the dat.ahﬂge 7
(1) EFEE M : : (1) Database Schema, .
: (2 . ‘sm%ﬂ HT—QE .. g (2)  Database Constraint
(3) BRI fgamqﬁ *(3) Data Dictionary
t‘4J'I anaé'a o=t 8 (4) Databas_fe Instanr;_,e :
(5) I el 27 =mEa (5) Not attempted
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16. B TER BLUNT &1 999 1BuTw’ ' :
%7 @99 1BuTn’ ¥ 2, 38 ¥HM[16. ‘BLUNT is related to IBuTn’ in the same way
g

17.

18.,

18,

JLA g

‘SHARP' &1 59y frad

] g ? ‘SHARP is related to 7 .

{1} HspaR : (1) HspaR — i Erfe
(2) PraHs {(2) PraHs
(3) hSaPr (8) hSaPr -
lr4,? AhSpR: (4) AhSpR o : i
(5) It T8l a1 = (5) Notattempted ' 4 Eq}

frg WK ‘ANGLES’ #1 g4y ‘GNASEL’ ® &, 3t /17 ‘ANGLES' is related to ‘GNASEL’ in the sa, @ -
& ‘SQUARE’ %7 HEy fHag g 7 way as ‘SQUARE' is related to_? . 5 (5)
(1) UQSERA ' (1) UQSERA . '

(3) . USQERA _ (@) UDQERA i g2. W%

(4) UQSREA ; : (4) UQSREA _ ) aeat F

) FTW i 31 =T _ (5) Not attempte._d 8 ﬁ?ﬁ
: ; 7 =

Erafifiga # firsr 98 14 HifeT | 18. Find the odd one out. e

(1) . gTvad — FE {(211 -:ud:;tq:;?m—chai; .

. i tal =

0 g -5 ' ThERE e .

3y sireh - @ : , < (3) Fm‘g__e_r—Hand _ et :

290 : (4) Brick-Wall -~ s

W f - - (5) Not attempted

(5) -IW

i ® :rrﬁ%;ﬁ'mgﬁ‘ ok Hix 19, Select the combination of numbers so that th

W e g w5 997 i fSmEE FIEN wel wt| - letters 'sll'rra.nged accordingly ~ will form ¢

mﬂﬁﬂﬁqmﬁﬁmﬁwmgﬁ; [ meaningful word : #1, PG (1)
GNAEHR bog A g o i, ¢

m123455 1 2.8 45 .8. f“;‘;ffﬁq o
. 53,1,2,4,6 VR LRI N e 5 s 3

@ Ly A (2) 532146 e @ ¥
i 3,1,2,, 3) 531,264 : .ﬁyk@f{/ (5) ¢
) Q%Ml (4) 8,5624,1 §

0, o (5) Not attempted b :
;‘IE-AEC HTEI} . ® . p 23, famfefe
QM%QLSUP_'ET'N.JHI#_;-12345 Eﬂ.XYZﬂEGQRSOPM JHI#+12345 FHH 1

' gL ich of the following is thi -

" ?*&m ?nﬁﬁ 3 3 i farfetera i : ‘.?’hn: E t}; i}'::l P third to the right of th .
@ T _ element which 18 exactly in the middle of ¥ |
(3) A ' given sequence 7 : _ , 1 1%
(4) ‘i{ (4 M T ‘(g 11
0y s 2 N . @) 18
M;pag&&m __ESJ. J (4) 2A
4 H | (5) W

(5) Not attempted O o s
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i iffmEanme? . {:@ﬁnd the odd term out.

21.
5, 15, 20, 24, 25 5,15, 20; 24, 5.
. | i n.. %Qllh . [ f ‘!I— 11'_-;!1.5-\-.-;1!_
1y 1o _ (1) 15 . W\ ’,\,,\_i
@ 20 55 B * o ¥ %
3) 24 ; (3) 24 £ W.";";ﬁ“"}fffﬂ
@) 25 (4) 25 Loy Tua
(5) - FC AR AT =E (6) Not attempted

29. Three statements are followed by three

99, M FA % =g dF e B o € ) s T conclusions. Take the statements to be true even
| et | firg 21 wu off %Al A Ao g W 4R fofa if they seem to be at variance from the commonly
$ifau 5 afhs wu ﬁ F-aE et 1’-};;[ mu #ufi|  known facts. Decide which of the given

ERCE T £ ; _ _ conclusions logically follow from the given
s woRRTEEE | o e
¢ - : o E | Smtemenﬁ; :  Some plates are spoons. f& iy
. e ; " Some bowls are plates. -
wft e wE R . ; P : 5
. * Al spoons are bowls. 7

fed: () Fo<heFRE
" gﬁ;w&ﬁtmﬁl
(1) %o = wie & |

Conelusions : (1) Some plates are bowls.
(II) Some I:;cm-'ls are spoons.

(II) Some spoons are plates.

(1) =hae I3 11 fied #
(2) = I1 30 11 Fe 2 R (1) OnlyI and I follow
(3) . ae 1 3N 11 Freerd & : ~ (2)  OnlyII and III follow
(4) |t 1, 11 3w 111 Feeeta & (3) OnlyI and III follow

B e (4)  AllL, 1I and III follow
: "45) . Not attempted

23. ﬁwﬁaﬁaa e JEet 7 % 6 g A
H ki fom (1) & ¥ R |93, Which number will come in place of the question

: Eﬂ?‘éﬁ T ATt ? - e ' mark (?) in the following numerical series ?
27,216,729, ? , 3375 21,216,729, 2, 3375
(1 1729 ' (1) 1729
'@ 1728 ' (@ 1728 L%
@) 1500 | (8) 1500 s il
(4) 20736 @ 20736

P g (6) Not attempted
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§—

ner of a restaurant. O,

. You are the oW
24 30 e & s § | s o Retad A2 oys met with 8 minor accidey il
9 W e AW & A W AT §Eff'“ =l rushing to deliver the food on time. He neﬁ_ﬂaﬁ SRR
ﬁmniﬁqm%|3ﬂ5ﬁﬂa;m-ﬁﬂraﬂﬁ?| for 5 days. ‘q.F.,rhm:'.hu:ni“thlrsf:;-ll{:-"i'--"-lI'l.E_";ili:tmng:,m]l Sfere femit
)
i Frferfiam 6 & .t adard w001 2 take ? etz faafs
) AN T ol & Frprer N - (1) You wi_l] terminate .him from t-he serviy, it
() 3T 5 Ry % Fae Reiim w0 3 | (2) You will suspend him for 5 days. <ererea A 7
(@) W 5 fiw & fou fm A E_EFI e I (3)  You will ask him to E':' on leave ‘-‘-’lﬂ'[nu-l
o @ | for § days. @ 70
(4) 3 W 5 B w1 wday sEwE 51 A W {4) You will give him P’“d Ieave for 5 day,, () 210
: Tt s 1 ot yyraw =t | : : ; wﬂlalqupajrfnrmedmnlm:p&uaea ' ). 900
(5) I A# M =reat (5) Notattempted .
28, ,,:!L’ ‘B' K Ty G Ty F (4-} d0a
' ¥ ;;y E’ 3 F“ﬁﬂﬁﬁ%l C’Dﬁm 26. AB,C,D,E and 'F are six persons, { |
o BT | B AR D ww A F | older than ‘D. ‘A’ is the youngest. ‘B’ and Ty, L
B E'd g % |'CPAE R | BH a% FE? of equal age. ‘B’ is older than ‘E". ‘C’ is m:;
(1) CaRD than ‘F’. Who are older than ‘B’ ?
(2) CamE (1) CandD 29. iz Frelt 3
3 FakE (2) CandE @OOC:@Q 3 ‘old a
(4) Fafmc (3) FandE . EECIRE
v (5] I i 3 (4) FandC e B :
| g : (6) N F o e
ot attcmpted
26, ﬁmﬁhmmﬁ%mmmaﬂﬂﬂ ; U o
= A ? 26.  Which number wil
i l l‘{,‘piam P -
_U. 7,26, X, 124, 215 : 1_ numerical series s . o @ ta
(1) 60 . b, g % Q. 7, 26, X, 124, 215 (4) na
() 65 ] (1) vgp. Tl f "
: . I TR T I
@ 63 @ 62 X
®) mqﬁfaqm : L 30. R uz=
: | 7. B Not :
27~:ﬁﬁqu%aﬁ?ﬂmm R e Ly
AW aﬁlﬁﬂ | = 27, ~ Find 011!; the wurd Wh:lch can be £ : . 1) H
.{1 SLETHWBIDN ; the letters of the gnren v & Dl‘?ﬂ'lEfd h}* l-liﬂ .
) RESIGN . SUPERVISION .
(2) POISON - (1) RESIGN 3 N
(8) REVISIT . (2) POISON
@ NERvOys . . (3 REVISIT i
(5) I 1 1wy @ NERvous 5) 3
RAMA/A1/Page 8 St d M. (8). Not attempteq -—-—-—-——-L
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a7 % SIS 9 ST 100 T F qowg Ay §
e fatd BRI X | 9w w70 ww
iz Faid &R TE 8T a9 7 3 Siwde
it el T | O S o g e wie
e 47

W 100

.{2) 210

(3)- 19-1'3-!3

(4) 330

(5) m#ﬁiﬂﬁmﬁ

g, ofe Tl T A H ‘over and above’ #I ‘da .pa ta’
3 ‘old and beautiful’ = ‘sa na pa’ o = 2,
i 7 2 w1 & ‘and’ F Fem v foy o 2

W da
- (2) pa
@)/ ta
" na

®) aaw@taq-r e

30. ﬁﬁ'ﬁﬂﬁmaﬁ mﬂﬁﬁiﬁﬂmw
21

{1)  HOPE EHPO
(2) TUNE : EINU
(3) MORE : ERMO

(4) PLAY:YPAL

28,

)

oy

.

>
(-
//

29,

30.

- (5) Not attempted

On. Ajay's birthday, chocolates  were to be
distributed equally among 100 chlldren He could
dlstnbutc to 70 children Unl}r 0 Lhut each child
got 3 chocolates extra. How many total

chocolates were available for distribution 7

In a certain code language ‘over and above’ is
written as ‘da pa ta’ and ‘old ar{d beautiful’ is
written as ‘sa na pa’. How is ‘and’ written-in that
code language ? i B
(1) da . Dﬂ.:lf ‘

{E‘I} pa

3) - ta

(4) na

(5) Not ﬁf’_ﬁempted

Find the odd one out which is coded differently.

(1) HQPE:EHPO
(2) TUNE:ETNU

(3)  MORE : ERMO

(4) PLAY:YPAL C'\
(6) o 7t o =R (6} Not attempted ’(\/ _
WNM IPage g T &Td @ foTe T2 / SPACE FOR ROUGH WORK

(1) 700 ) qﬂ,,,,v:
@ 210 \“"‘”Mﬂf .
(3 900 “;.:‘“"" A
(4) 300 \a’“*.’“_Fﬂ:ow*;;l; £

N e
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31. ﬁq'ﬂl:lﬂlﬁ-[

ﬂ3333xoz5xn499x0125x24
1 &
3 i vEE

@ 7 s 'V;:_’.
\ ?{J%i N :

A3 i : 3

@ 2
¥

(5) - Fat Al &1 =

a2, uﬁxwamﬁﬂm%aﬁyx%aﬂﬁﬂfﬁﬁm
ﬂﬁafrﬁ«-ﬂaqﬁwﬁm@i 4t gedr (x-¥)
wag ferafom w0 -
(1) 4%
(2 64
(3 9#
(4) 128
(5) 3 I AT R

a3. ?rmaﬁmtﬁrrm@%ﬁmmm:ﬁmmm
ga7 wi 2 | HEHs & LCME :
(1) 100 ; o
2 150
(3) 200
(4) 250
(5) e A EAT R

31.

The closest approximation of  thg o

prnduct. ™ A
0:3333 x 0:25 x 0499 x D125 x 24 '45. “;u
s : 1 £ :;I.'l
g : &

' & e f;ﬂ -
iy * B .th : ﬂjuf{,’n- (@
= o Yt @

3 % o @)
bl A )
(4) 2. Wf

. e g6. T
(5) - Not atl.empted T
If x is a Bdlgn; number and ¥ i8 a gy t
obtained by permuting the digits of x i, Foren
" manner, then (x - ¥) is always divisible by iy

1) 4 -~
{[2; 6 ﬂ:‘:? 4 &

' -f"o{ . (3)
(2) .. 9 : = re
4 12 - (4}
(5) Not attempted i _ (5)
The sum of two numbers is 45 and & 5
difference is one-ninth of the sum. Thent 37.
LCM 18 : . MJ‘-‘:}‘ -\ka ; EF_
() 100 § L**z‘ ;

oW R

(2) 150 ) T
(3) 200 T am <"‘ (1
(4) 250 i, = d (2
(5) Not attempted , {3

si - Fi aﬁﬁ T, 2 45 ﬁﬁa ﬁtﬂlﬁ ﬁgan - 34. The traffic lights at three different signal p {.{j
13 T 45 R, ﬁ'ﬂﬁﬂ'ﬂi 90 "335'5 | change after every 45 seconds, 75 seconds® u
et Rt e o 2 90 seconds respectively. If all' che!
Py el ol i m i simultaneously at 7 : 20 : 15 hours, then thef® ag, |
o ; ; next chang& again simultaneously at : "
Sl (1) 7:28:00 hours L&fw
() 7.2?.45ﬁ (2)  7:27:45hours e Lr
(3 17 LET'-3U'E|? (3) 7:27:30hours A Lo "\J
(4) 7:27:5092 i (4) 7:27:50hours o\ \
(5) I T T = (5) Not attempted - g 3 Ll : S
b 4 & {0 TU™ | SPACE FOR ROUGH WORK — i
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. af A @ B H 3T I 10% s 3 g b
" g, © 61 o A 20% TR, A wmw A, B en

® axmﬁ I B :

1y 11: 10:8 o
(2) 22 :20:25 '
(3) 10:9:7

(4) 22:18:25

(5) ﬂﬁﬁm“ﬁ

36. mx'%mﬁ?@mi | 98 30wl = uiy
|

{52 _
w5 §iai5 7 I e e

pﬁmmﬁmﬁaﬁmﬁﬁﬁ
'ﬁﬂﬂmwﬁ‘ﬂ“mﬁmmﬁﬂ
© (1) -T358
@
(3) THI12
TV o B
(5) mqﬁi‘ﬂmﬁ

T 420

. A

37. wm_ﬁwrﬁ,%l'l = A5 FEmait ¥ shua @ | gy,

35.

36.

(5)

If the income of A is 10% more than that of B and
the income of B is 20% less than that of C, then

the incomes of A, B and C, reapectwel_v, are in
the ratio :

(1) 11:10:8 ca\® g &
@ 22:20:25 O e *f«)"/“‘,?{a

3 10:9:7 & vl
(4) 22:18%25 ‘cﬁ"" i

- (5) Not attempted U “:A

Mr. X has some money with him. He has to

distribute this money among five labourers in the
2 KN R S

ratio l = = =1 =, What is the minimum

- 23 4.0, T

amount he should have, so that each labourer

gets an exact number of rupees ? y6F 2

) €358 u&’”%l‘
T s
(2) <420
(3) T512
(4) €599
Not attempted

e There are thﬁu positive numbers. One-third of
Ui, GEE qE1 HEA @ 8 w0 ? | Had Bl e the average of all the three numbers is 8 less
of gt e iﬁ-@r el B siEn 8 3 Hﬂ'ﬂ‘ a4 than the greatest number. The average of the
denTn o smallest and the second smallest number is 8.
iy 'What 1s the greatust number ? -
% 9 (0 9 - g
11 .: }3] ‘11 3 h‘ﬁ.sr'l.r" .3,‘*- __.-'-"'
[ ERTENES 4) 14 e . sl
iy -
(8) I A g e - {B) * Not attempted ﬂﬁ#'ﬂ‘:}\ ",
oy G el n - | 2D
38. (V157 Y236 + Y720 + ¥6F) Tuw 2 : " 98, (131 x Y206 + Y705+ Y6 ) is equalto:  ~
M. 1369 * (1) 13-62 & a R "
2) 79 @ 19 b g
@) 149 3) 1482 | “h;,,:‘
Wigogs |, v 1, N il i A 4
-——'{5]'______311?_ ?Eﬁaﬂ'l‘ %- - . ) (6) Not attempted
RAMAAIPage 11
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39,

- 40.

() B:11 xké
£
@) 5:6 \‘E’“ Q‘ﬁ
4) 11:5. ;{iy
(5) m#&’_fémirmﬂ . (<

= 41.

42,

(1) & 21,000

(2) 22,500

(3) . 725300 \¢/ ("
- (4) T 25,800 ‘é\f‘ i

(5) IT T &1 wmES

T iz W e 18,700 § A9 R, sﬂ%mﬁ‘fﬁﬁ
16% &1 T Bl 3 1 15% @™ & foru 77 2 B

%ﬁ_ﬂa%?
@.

IR o T 20% W WA v, A B A A BAA
W%ﬂﬂ?ﬂﬁaﬂtﬁmwﬁ@mi‘?

A 3 T 38,000 T FX AR I fFA | 5 AR F
qE T 55,000 F ISt @ F B A Wt 3@ = #
vay e | 39 % fa # T 22,000 w1 T AT BIA |

ﬁﬁﬁﬂaﬁrﬂﬁﬂﬁrﬂaﬂlB%m%&Wﬁ |

S R T

39. When a plot is sold for ¥ 18,700, the g,
: 3"
15%. At what price must the plot be sold ,
to gain 16% 7 - ’*’rd
(1) = 21,000 sp *.
(2) =225600 -
"C?‘ %
{(3) ¥ 25,300
qf\.
(4) T 25,800 .
(5)

Not attempted

If an article is sold at 20 percent profit,
which of the following is the ratio n.f' its eost ,
toits selling price ?
(1} 5:11

(2) 5:6

8 6:5

11:5

Not attempted

40,

(5)
4¥7 A started a business investing T 38,000. !
5 months, B joined him with a capit
7 55,000. At the end of the year, the totalp
was T 22,000. Which out of the following is
"apprméimate difference between the share

z}m:?;m o e ?)/(' | ;5 * profits of A and B ? oz 8
' 'Bi m =1, 007 AR o
@ 1,192 % pv | -gj’ 2)° 71,192 S+ A
@) 71857 g LA (@) T 857 O i
(4) %1928 .5/ / ﬁ“'{q} ¥ 1,928 %}L & ‘3*:5'
(5 FTW ﬂﬁ 331 ?ﬂﬁﬂ' . £ . (5) Not attempted J—:f_’,.ﬁi{ %
; Ca) ; & |
14; A, s 721 35 . ﬂ’-ﬁm.f g; T 3 ﬁa?r =7 | 42. Thé'mst of a solid cylinder of radius 14 m
T, -ﬁ% == I HTg ‘—’E!l F 50 Hﬁ"f 77 . height 3-5 m, when, l_:ha cost of its metal 15"
i ®. per cubic meter, is : -
W =1,00,908 (1)« ¥1,00,58 o (K*xxk“r}ij’;
(@) =1,07,800 (2 ¥ 1,07,800 _ﬂ_
3 7 1,08000 (3) ¥ 1,08,000 /f?z - A
(4 T 1,09,800 (4) 7 1,09,800 ,;9-7'
(5) Eﬂ?qg’famm ‘(5) Not attempted ' o ﬁ:&
RAMAIA1/Page 12 % &4 % foqu Torr | SPACE FOR ROUGH WORK ¢ﬁ.'v-’“’” . 3% Yok 6o
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Q:l'zsgﬁﬁeﬂumﬁm?mﬁﬁﬁr%mﬁm

Tea worth T 126 per kg and T 135 per kg are

43.
£ T #F TF AEY TFER A owm F g, 1:2 % mixed with a third variety of tea in the ratio
3 firewen T 1 3G P W g 2 1pm wfy 1:1:2 If the mixture is worth ¥ 153 per kg, the
W%fﬂfﬁaﬂmiﬁlﬁm &1 ufy %’WW price of the third variety per kg is :
LE (1) ¥169-60
169-50 : A 3
o f _ 2 T 170:00 Lt
00 " i
(@ 1700 6 { / (3) T 17650 x\*‘?’r \ ¢3Y X
' b =
75-50 - . "
@ B oI (4) T 180-00 SWARS 5-‘!__1[
(@) T180:00 A\ ' ; =
. : (5) Not attempte ¥2-
(5) e 71 4 =T 07 ,’\/ \ af "
2w \ 44. A man and a boy together can do a certain
. wE et 3 H Tgh o = TR H UF wE amount of digging in 40 days. Their speeds in
40 & @ = "GIEI-TEI & afh IR EEHE ool digging are in the ratio 8 : 5. Hnwlmany days will
nfs &1 T 8 ¢ 5 21 AR w &l Fhd GIE & the boy take to complete the work if engaged
mmmﬁaﬁ‘ﬁ?ﬂ&ﬂﬁ%ﬁﬁﬁwm alone ? W
_ | - _ e
E'ITETI':' i (1) 52 days e -
m Bl e s s %
: i 2 v (2) 68days Ly ! =
- ey : "}'\-{_ 'ﬁ &
@ ﬁsﬁ# s [_/,.-E:/' (8) 80 days o
® 80 - ' (4 104 days
. '4 4 i
@, 10477 - (6) Not attempted
(5) W T < A=
U,f' . |
v i 1
At ' : ' 45. A sum of money at simple interest doubles in
45. U UORT wruTor st G 7 A6 # gt @ W a2l Tjrears:'l. It will become four times in :
a8 Tt adl # = A @ et ? (1) 18 years. -~ o
: : r ' : g AN VR
w1 (2) 21Yyears . e N~ ;
{2} 2 . 7 N e o
17 (3) 38 years ; L"‘E)t-:'" kgt Y
(3) 38ad T .
(4) 42 years ¥O
(4)
: et . _ (5) Not attempted '
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T

‘mountains and. the sea which gives the country a

46. Tourism as an industry also cnntnhutes to our

" RAMA/A1/Page 14 |

Read the following passage mreﬁguy and answer
questions 46, 47 and 48,

India is one of the oldest civilizations of the world,
which offers a kaleiﬂuscui‘.-e of cultural experiences. The
muntry has a rich heritage and numerous attractions.

t stretches from the snow- -capped Himalayan peaks to
the tropical rain- forests of the south cov enng
32,872,263 square kilometers, Tt is the world’s seventh
lﬂl'gﬂst country, distinguished from the rest of Asia b}’

distinct geographical identity. India showcases a
variety of herltage resources cmﬁ:ed hundreds of years
ago from huge hentage sites' to pristine sea-beaches.
Tourism contributes to substantial economic, sm:lal
cultural, educational and political devu]opmeﬂt that
generates both d.r.rect and Jndzruct employment

muntry’s

(1) pnpulatmn and emp]u:rment

(2) _agrlculhlre and rehgmn
@ education and employment.

-'f:l}' rehgmn a.nd statisties.

(6) ‘Not ﬂttempl.t.d-

47, Ecsuies the “rurld’s olde%t mwhzatmns India is

also the world’s Nlargest c:uuntr;.r.

(1) “third
(2) fifth
(®) tenth,
(4) seventh

- (6) . Not attempted
48, Find out a word from the above passage._w'hich
'heans ‘a country’s history, traditions and culture

ete’.

(1) identity

(2) heritage . ‘
. (3) pristing

© (4) attractiong
(5) Not attempgeg

20.

52,

49.

51.

C‘hmse the word which is opposite ; in
the word underlined.
“Earthquakes are frequent in Japay, »
(1) e:_n:tinct
(2) unusual
(3) few
(4)  rare
(6) Not attempted
; Choose the word which is opposite ip e,
the word underlined. _
) “She is slender in fi igure.”
(1), strong
(2) frail
(3) " stout
@) slim
(6) Not attempted
Choose the alternative which best expre

meaning of the underlined idiom.

Her speech is always full of tall stories.
(1)  long tales.

(2)

_heroic stories

(3 exagggmfed tales

{4)  realistic stories

(B) . Not attempted

In the following question, out of tk
alternatives, choose the one which ¢
substituted for the given sentence.

“An apartment huil:iing in which each apt"f
is owned separately by the people living in!
also containing shared areas:”

(1) Condominium
“(2) Maultiplex

(8) "Duplex
(4) Caravan

- (5) Not attempted
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pick out the correctly spelt ‘_wurd. E-'T Pick out the correct indirect speech form of the

(1) Qutregeous _ following sentence. .
(2) Qutrageous “] have bought a house,” he said.
(3 mﬁﬂ%ﬂus (1} He said that he had bought a house.
{4] Uut[’&] 10US J "

) Not attempted (2) He said that he has bought a house.
[ | ' (3) He said that he bought a house.

. (4) He s::ud that he would buy a house.

! Choose ‘the correct passive voice form of the
following sentence.

: Not att ted
Gheetal will have finished the work, ' ®) e
(1) The work is finished by Sheeta), r
(2) The work will be finished by Sheetal. 58. Chﬂuse the most appropriate prepaslnun to fill in
(3) The work: will have been ﬁmshed by| =~ the blank.
“Sheetal. She succeeded dint of perseverance and
(4) Sheetal will finish the work in due time. " hand s,
ttempted ;
(5) Notattemp : (1) for
£5. Rearrange the following parts of a sentence (2} from
labelled * as PQRS t-c: mn]ﬂ:e a meaningful (3) by
senfence. ;
4) to
P. deedsistobe : @
R. the power of noble : “1 '
- 8. preserved gnd__paésgd . |89. The old man is looking forward the
(1)- RSQP i . _visits of his grandchildren.
[:2] SQPR - - : i I{l'} ﬂ]l’
@ ross R TAR X
(6) Not attempted . 7 @ .
0 M : ! . (4) with

36, Pick out the part of t,he'_sehténce which has an

; (b) Not attempted
error. If there is no error, your answer 1s {4?‘ : S

The simplest method

-______ﬁ . e 60. Till in the blank with the appropriate option
mwu pieces of metal together | ok Mo o

: = — R ‘The Battle of Waterloo was won ____ - of
is known as pressure welding ' i
su : :

__‘._'_1_'_'__;3 (1) with the play field
a a - _ ; ~ (2) on the playing fields
BT . ; ' (3) for play fielded
@M o . (4) in the played
@ No error

(6) Not attempted

7w @ % forg T | SPACE FOR ROUGH WORK :

(5) | Not attempted
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61. ﬁ'ﬁlﬁiﬁaﬁ.ﬁﬁﬁﬁaﬁﬁﬁﬁﬁﬁwl- o i g i
/' . by : (1) 39 138
(1) «m@ - @ , - :
§y (2) % fou 94
2) w13 - et
s W R : 3) W
@y ; @ .H-q
- Eip
& (4) @ * qaqﬁ&mw
| E
(5) I & 2
| ;
l : S = & qr & fort 3w
| 62.. re-are 1 T A o R 66. Eath Ll ™y
(1) =Ea = g : : f
' (1) R
@ g A : ' o
P ..-_{2]
(4) B T L Lk , (3). 3
5 sdmew T L
o T B % (5) T T 3 A
6. ﬁﬁmmﬁ%ﬁmwﬁ-ﬁﬁm “ pars
| g ' L et 67. ﬁfw#ﬁqsﬁﬂmﬁﬁﬂﬂﬂﬁ
\a (n # oy Al TR
@ ® @ dff
18) I @ Fm
@ d FaRu (@ wafs
(5) FWAA@MEE i ]  (5) I &
64, AT G THEHREAE _-;/ i nd Ty ﬁqﬁfaﬁﬁﬁﬁggmmwﬁﬁﬂuf
() s s ce | ) e
@ wanfEr . ' ) wwRE o
¢ : 5 ' : ! "n
L bl i ; {4) i %}h"
(6) I & T F R (5) I A o '
e & 4
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g o o TR A S F IGE WA R may |78, mﬁﬁﬁﬂﬂm'ﬁ%:

69: e : : s e
' : (1)  =reer
AR i
A ; PN < (2) oI
(2 as TR . ?,{5‘
s L P e e (3) TEHuT
- ) T 1 k. " (4) A
:(5) e A8 & =Ed . Wk} ;
_ - (5) I Tl 3 e

g fa R € 33 A g P

70. .
— e ﬁaﬂﬁﬁiﬁamaﬂqm
; sl R, - 74, ﬁqwﬁamﬁmﬁammmm
- () ﬁlﬁ@m : C ogmi?
: 5 W sl () S G T TR
(3) e SR . ' : e :
@) T TR (2) . g & A 3 4 T &
(5) mﬂﬁiﬂimﬂ gl (8 7% forame g1 @ i w9 @ faw g

: - S o ) FfmER Al A FE
7L ﬁﬁﬁqﬁﬁmﬁmﬂzwi~ ; ‘
(D ﬂﬂmﬂmm mmmmmml_

(2) %[a@: A L
@) R, s, aﬂtsrn%ﬂmm??ﬁ*%l

(5) I TE ¥ A=

R mmmﬁqmmammﬁm 75.  “wdi  _ a@ﬁ%’ﬁm%ﬁ?ﬁw%m
- ® mﬂﬁfi‘maﬁ% PR _ ‘et 1o i sy fs e gh |
AT _ ey : W f '
,3_2\- ‘Tﬂw ﬁ il ] : -- . : .'
. ﬁT;fq_' Hﬂ?ﬁ‘srm% ; | @ s
(1} wgelss . . ok : ' e :
o .5 { @ dwd
Tl A R et e o W o)
Co Doat R s () I E e
(8) Fmg :
Hﬁ&mm&
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—

- 76. zﬂmﬁﬁmwaﬂsﬁwnsﬁr@ﬂmﬂmﬂﬁ

T 2.
(1) s
@ wi®
(3) gt
(4) whEmEt
(5) IW & a7 =T

77. ﬁﬂﬁ%ﬁﬁﬁm%%ﬁﬂﬁﬁﬁiﬁl@ﬁ%m

3 00929 = @ & T WgH R T Y

(1) =y fag
(2 g sifae
(3) i g

(4) gauw EE
(5) o TE A AE

8. ﬁn@ﬁhm(ﬂﬁ}mwma&

gt ?

(1) 2019
- (2) 2018
. (3) 2016

@) 2017
(5 IR 7€l T <

79. m@mgﬁmaﬁﬁmﬁﬁemﬂﬁﬁ

T E 7

(1) I

(2) @i

(3) waer

(4) FEE

(5) E‘ﬂlqﬁ@wﬁ

= mlﬁﬁmﬁﬂﬁﬁmmmﬁﬁm

R e g 2.
(1 Fmwg -
(2) =fzsRn
(3) T

(4) ‘o wElewm
(5) I TE & Ry

T8.

80.

76.

7.

78.

Which language was accorded the stay,
]

second official language in Haryana in 3,

(1) English

. (2) Urdu

(3) Punjabi
(4) Haryanvi
(5) Not attem pted

Which among the following personalitie,

Haryana réceived the Padma Shri award ;,
in the field of sports ? |
(1) Sandeep Singh

(2) Sumit Antil

(3) Bajrang Puma

(4) Yuvraj Singh

{5) Not attempted

In which year was SAI National Boxing A

(Rohtak) inaugurated ?

| (1) 2019

(2) 2018

S (3) 2016
(4) 2017

(5) Not attempted

Sportsperson Seema Punia_Antil hails

which village in Haryana ?
(1) *. Ujhana

(2) Khandra

(3) Khewda

(4) Kaluwas

(5) Not attempted

Which Haryanvi film released in 2015
two National Awards ? :
(1) Beera Shera,

(2) Chand Chakori
(3) Pagdi

(4) Veer Ghatotkach
() Not attempted

RAMAAIPage 18 | o
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2.

WWM!Fage 19

o
e ()" WA
e

- (3)

(2)
(3)

{4)
(6) T

ampEr HiEST 131 g shel SEAT 1T & 2
7
FAL

)
A

mﬂﬁ-ﬁiﬁﬁﬁﬁﬁtqﬁ?ﬁﬁmﬁﬁ
&
(1)
(2)
(3)

EEUE ]

iin

T I

(4) TICTH

(5) I T <

ﬁqﬁiﬁﬂﬁﬂ;ﬂﬁq{ﬁ'ﬂﬁaﬁﬁf‘{

(@ =, & § Fifd wid w5 s

(b) m%sﬂﬁﬁﬂwﬂmm%ﬁmm
Rl

mﬁ%ﬁ:m{ﬁwnﬁr%f%‘?

(1) ==d (a)

(2) =4 (b)

3. @@ ®I

(4) (a) @ (b) § & =I5 TE

(5) IR E Gy =TEd

1770 % % wE-gwdenr H g F IR A

-

i

- usfhE fE fmm 7

(1)

HEHE TR AsTel
(2) :

e '@
T

(4) et fafien
(6) 3 4 2 e

-'Wﬂﬁmwgﬁamﬁn‘iﬂlﬂﬁﬁmw

|81,

82,

83.

80.

(1)

- (B)

- (3)

Where is the Chha) ornament worn by women 7
Forehead

(2) Neck

(3) Hand

{4) Waist

(5} Not attempted

Which dance form of Haryana is dedicated to
Shiva and Parvati ?

(1)
(2)
(3)
(4) -

Manjira Dance
Lasya Dance
Ratwai Dance
(GGangor Dance
Not attempted

Consider the following statements :
(a) Chope is a style of shawl manufactured in
Haryana.

(b) This'shawl style is also known as Phulkari.
Which of the statements given above is/are
correct 7

(1) Only (a)

(2) Only (b)

(3) Both (a) and (b)

(4) Neither (a) or (b)

(5) Not attempted

After the death of Najib-ad-Dawlah in 1770 AD,
who ascended his throne ? '

(1) Ahmad Shah Abdali

(2) Jabit Khan

Najaf Khan

Mahadji Scindia

Not attempted

(4)
(5)

When was the famous Badkhal lake of Haryana

o7 ? developed ?

(1) =§ 194,0 i (1) In 1940

(2) aF 19477 (2) - In 1947
T @

I[E}I I Ef F = (6) Not attempted
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SR AL MR N S daH ATHE | gRiui b T
FITL - FaTl

1. HEEs a, TomET

II. s b, . wm ~

II1, =hfoeemr c. U@

IV. digey d. TEETR

(1) I-b; Tl—c; IM-d; IV-a
(2) I-a; IId; IiI_—b}; IV—c
@) I-d; H-a; II-b; IV—c
(@) I IIh; Ii-a; IV=d
(5) I @l &A1 =mEd

87, amE T e T W R Y
(1). @
(2) g
(3) =T
C(4)  Huw
- (8) mqﬁhaﬁﬁ

88. gﬁwﬂq—qmﬁmaqf‘srﬁw 1994%:3:@111}(%
-~ mnﬁﬁ%ﬁﬁﬁﬂmmqﬁﬁmﬁaﬁﬁﬁﬂ

figes 7@t Hamr 2 e
(1) mﬁmmﬂfﬁﬁr o
@ ww el

(3) wawes vd weawr @l

@ fow, vt (wifee) v A afifet
(5) m;ﬁﬁmm

B89, Eiwm
] Tl Tl S sTETerd i T A g 9
W 1T, 1055
@) 10w 990 '
(3) T%,mgg

| BT.

88.

89.

names in Column II :

L
II.
II1.
V.
(1)
[_2}
(3)

4"

(5)

nt!!]

Column 1 Column
Sairishaka a. Sirsa
Kanoud b.  Kaithal
Kapisthal ¢.  Panipat
Panduprastha ' d. Mahﬁ“draga;h

I-b; Il—¢c; III-d; IV-a

I-a; TI-d; ITI-b; IV—c

I-d; II-a; III-b; IV-c
I-¢; II-b; II-a; IV-d -
Not attempted

Where is Bnha Ladaana Tirth Sthal situateq,

(1) °
(2)
(3)
(4)
(5)

Rewan

J ind
Ambala -
Kaithal

Not attempted

Which of the following committees is |

' éuppoint:—:—d by the Panchayat Samiti accordi

Chapter X of the Haryana Panchayati R
1994 ?

(1)
(2)

@
(4)

(5)

Social Justice Committee

General Committee

Health and Welfare Committee
Finance, Audit and Planning Commis?
N_ut attémﬁt&d

When was the E_rst pernianent Lok Adalat*
in Harvana ?

(1)

(2)
(3)

(4
(5)

17t January, 1955
10t May, 2005
7™ August, 1998

15 November, 1966
Not attempted
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2 90.  Which district of Haryana receives the highest
¢ femt rainfall ? '
@ T (1) Hisar
@ FET (2) Ambala
() fiarl 2 (3) Kurukshetra
(5) I TEl o =iEd _ {4) Bhiwani
Kﬁaﬂﬂﬁﬂiﬁ-‘ 3% et e . g = (5) Not attempted .
- 9L ) fram 91, - Where is the Blue Bird lake located in Haryana 7
(o e (1) Hisar o
(3) e (8 e,
@ AT (3) . Faridabad
(5) I T T =R el R
PR (5) Not attempted
02, ??Tm L Wﬁ . 92. The n]imat-e of Haryana is :
(2) s Wi R {1} Dumirental e
g g e (2) Sub-Hum.ld Ternperataei type :
Sy i St (8) . Suh-Trnpl.cal Dry Cm:{unentalt}rpe
vie Sy il e (4) - Sub-Humid Sub-Tropical type
_ (5) Not attempted
93. HEER <H e ® uE-gem feet swe ofn @ 93. What is the One Time Cash Award for Mahavir
gt oz w2 2 Chakra Awardee ? 7
(1) % 2,00,00,000° (1) T 2,00,00,000
(2). ¥ 1,00,00,000 ~{2) ¥ 1,00,00,000
(?]‘ < 4,00,00,000 (3) ¥ 4,00,00,000
(4) ¥ 6,00,00,000 - (4) % 6,00,00,000
() 3w gl <A =nEd (5) Not attempted
94, el =1 s ueft T ;% ? 94. What is the State Bird of Haryana ?
(1) EIiFL"ﬁhT'. i g (1) House Sparrow v
(2) e (2) Great Egret
(3) wilt waft (afm =) (3) .- Humming Bird
(4) =T W ' - (4) Black Francolin
(6) 3o i Fr e (5) Not attempted
95, ém . ﬁ m ‘cET foret’ o WA & ? 95. Which city is known as the ‘Heart of Haryana’ ?
1) faw - (1)  Ambala ; : :
@ e - (2)  Jind
@) Tevta () (3)  Gurgaon (Gurugram)
@) e s (4) Panchkula
: : (6)  Not attempted
L -

m%ﬁ?ﬁﬁﬁﬁﬂa{ﬁmﬁ@?ﬂ%?
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96.

98.

ST e wwz % fadia-ad 2022 - 28 # ¥ T
Wﬁﬁmﬁmﬁm%mﬁmﬁgﬁﬂfﬁﬁﬁﬂ?

9G. What is the percentage of the total eXper,
allocated towards Education in Haryap, % iy
Budget for the financial year 2022 237 %

= . .
@ & forg wamt ) SPACE FOR ROUGH WORK

R 7
(1) 182% (1) 1&2%
(2} 16-4%
i (3} 14-2%
(3) 14-2% @ 152%
JA 20 (5) Not attempted
- (5) IT AL & WEd
2 : _ 97. What is the total number of electricity congp,
g7, wfmon  fyga e i F T 2021~ 227F (.. . in Haryana till 2021 - 22? e
frefta 7 (1) 68,57,609
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